APPB 
Three Easy Collisions

1. A ball of mass m1 = 100. grams traveling with a velocity v1 =50. cm/sec collides “head on” with a ball of mass m2 = 200. grams which is initially at rest. Calculate the final velocities of both objects in the event that the collision is elastic.

2. In a cloud chamber photograph, a proton is seen to have undergone an elastic collision, its track being deviated by 60.o. The struck particle makes a track at an angle of 30. o with the incident proton direction. What mass does the particle possess?

3. A sports car weighing 1200. pounds and traveling at 60. miles per hour fails to stop at an intersection and crashes into a 4000. pound delivery truck traveling at 45 miles per hour in a direction orthogonal to the sports car. The wreckage becomes locked and travels 54.7 feet before coming to rest. Find the constant force that produced this deceleration.
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